GLWA
Great Lakes Water Authority

Procurement Form (FOR)

Effective Date: Document #: Revision Date: 7/1/2025 FSA_PRO_TPL_0012 N/A

Revision#:

Document Title:

Cost Tabulation/Notice of Respondents

Document Owner/Department:

Procurement Team

Req No./Title: 0002690 - Lonyo Sewer Rehab

			Marra Services, Inc		LGC Global, Inc.		Jay Dee Contractors, Inc.	
Description	Qty	UOM	Unit Price	Total Cost	Unit Price	Total Cost	Unit Price	Total Cost
Mobilization and Bonds & Insurance	1	LS	\$800,000.00	\$800,000.00	\$977,933.00	\$977,933.00	\$225,000.00	\$225,000.00
Flow Control	1	LS	\$700,000.00	\$700,000.00	\$2,334,054.00	\$2,334,054.00	\$4,915,000.00	\$4,915,000.00
Siphon Flow Control and Dewatering	1	LS	\$500,000.00	\$500,000.00	\$381,375.00	\$381,375.00	\$1,016,825.00	\$1,016,825.00
Misc. Site Work	1	LS	\$500,000.00	\$500,000.00	\$631,736.00	\$631,736.00	\$950,000.00	\$950,000.00
Traffic Control	1	LS	\$300,000.00	\$300,000.00	\$331,276.00	\$331,276.00	\$150,000.00	\$150,000.00
Lonyo Access Shaft – John Kronk Street	1	LS	\$225,000.00	\$225,000.00	\$869,301.00	\$869,301.00	\$750,000.00	\$750,000.00
Lonyo Flow Control Shaft and Tunnel	1	LS	\$1,075,000.00	\$1,075,000.00	\$1,755,991.00	\$1,755,991.00	\$2,000,000.00	\$2,000,000.00
Shutdown Days	250	Days	\$1.00	\$250.00	\$24.00	\$6,000.00	\$10.00	\$2,500.00

	GIWΔ
XX	Great Lakes Water Authority

N/A

Effective Date: Document #: 7/1/2025 FSA_PRO_TPL_0012 **Revision Date:** Revision#: 0

Document Title:

Cost Tabulation/Notice of Respondents

Document Owner/Department:

Procurement Team

Req No./Title: 0002690 - Lonyo Sewer Rehab

			Marra Services, Inc		LGC Global, Inc.		Jay Dee Contractors, Inc.	
Description	Qty	UOM	Unit Price	Total Cost	Unit Price	Total Cost	Unit Price	Total Cost
Deep Concrete Repair	1,250	SF	\$200.00	\$250,000.00	\$358.00	\$447,500.00	\$500.00	\$625,000.00
Open Joint Repairs	550	LF	\$200.00	\$110,000.00	\$447.00	\$245,850.00	\$330.00	\$181,500.00
Epoxy Crack Repair	500	LF	\$100.00	\$50,000.00	\$87.00	\$43,500.00	\$220.00	\$110,000.00
Deteriorated Brick Repairs	100	SF	\$150.00	\$15,000.00	\$298.00	\$29,800.00	\$325.00	\$32,500.00
Seal Infiltration with Chemical Grout	8,500	GAL	\$70.00	\$595,000.00	\$66.00	\$561,000.00	\$80.00	\$680,000.00
Remove Mineral Deposits and Roots	100	SF	\$100.00	\$10,000.00	\$119.00	\$11,900.00	\$245.00	\$24,500.00
Remove Debris with PFAS (Increased Efficiency)	11,250	Tons	\$500.00	\$5,625,000.00	\$362.00	\$4,072,500.00	\$165.00	\$1,856,250.00

0111/4
GΙWΔ
Great Lakes Water Authority

Effective Date: Document #: Revision Date: 7/1/2025 FSA_PRO_TPL_0012 N/A

Revision#:

Document Title:

Cost Tabulation/Notice of Respondents

Document Owner/Department:

Procurement Team

Req No./Title: 0002690 - Lonyo Sewer Rehab

			Marra Se	rvices, Inc	LGC Global, Inc.		Jay Dee Contractors, Inc.	
Description	Qty	UOM	Unit Price	Total Cost	Unit Price	Total Cost	Unit Price	Total Cost
Remove Debris with PFAS (Standard Efficiency)	4,125	Tons	\$725.00	\$2,990,625.00	\$418.00	\$1,724,250.00	\$165.00	\$680,625.00
Repair Rough Taps ≤ 24"	48	EA	\$1,000.00	\$48,000.00	\$1,790.00	\$85,920.00	\$1,950.00	\$93,600.00
Repair Rough Taps >24" to 48"	1	EA	\$5,000.00	\$5,000.00	\$3,281.00	\$3,281.00	\$4,000.00	\$4,000.00
Repair Rough Taps ≥ 48"	13	EA	\$5,000.00	\$65,000.00	\$4,475.00	\$58,175.00	\$7,600.00	\$98,000.00
Manhole Frame and Cover Replacement	32	EA	\$10,500.00	\$336,000.00	\$11,336.00	\$362,752.00	\$12,000.00	\$384,000.00
Lonyo Special Manhole Modification	24	EA	\$4,000.00	\$96,000.00	\$24,565.00	\$589,560.00	\$5,000.00	\$120,000.00
Chamber Spray Lining	2	EA	\$10,000.00	\$20,000.00	\$40,571.00	\$81,142.00	\$17,500.00	\$35,000.00

W	GLWA
	Great Lakes Water Authority

Effective Date: Document #: Revision Date: 7/1/2025 FSA_PRO_TPL_0012 N/A

Revision#:

Document Title:

Cost Tabulation/Notice of Respondents

Document Owner/Department:

Procurement Team

Req No./Title: 0002690 - Lonyo Sewer Rehab

		Marra Services, Inc			LGC Global, Inc.		Jay Dee Contractors, Inc.	
Description	Qty	UOM	Unit Price	Total Cost	Unit Price	Total Cost	Unit Price	Total Cost
Lonyo Access Shaft and Cleaning Site (Patton Park and Baby Creek)	2	EA	\$250,000.00	\$500,000.00	\$409,142.00	\$818,284.00	\$1,500,000.00	\$3,000,000.00
Raise Stop Log Slots and Procure Stop Logs	2	EA	\$185,000.00	\$370,000.00	\$286,693.00	\$573,386.00	\$175,000.00	\$350,000.00
Remove Debris without PFAS (Increased Efficiency)	3,750	Tons	\$400.00	\$1,500,000.00	\$342.00	\$1,282,500.00	\$160.00	\$600,000.00
Remove Debris without PFAS (Standard Efficiency)	750	Tons	\$600.00	\$450,000.00	\$406.00	\$304,500.00	\$160.00	\$120,000.00
Provisional Allowance	1	NTE	\$750,000.00	\$750,000.00	\$750,000.00	\$750,000.00	\$750,000.00	\$750,000.00
	Gran	d Total	\$17,885	,875.00	\$19,333	,466.00	\$19,755	,100.00

	GIWΔ
XX	Great Lakes Water Authority

Effective Date: Document #: Revision Date: 7/1/2025 FSA_PRO_TPL_0012 N/A

Revision#:

Document Title:

Cost Tabulation/Notice of Respondents

Document Owner/Department:

Procurement Team

Req No./Title: 0002690 - Lonyo Sewer Rehab

			L. D'Agostini & Sons, Inc.		Pamar Enterprises, Inc.		Inland Waters Pollution Control	
Description	Qty	UOM	Unit Price	Total Cost	Unit Price	Total Cost	Unit Price	Total Cost
Mobilization and Bonds & Insurance	1	LS	\$950,000.00	\$950,000.00	\$1,200,000.00	\$1,200,000.00	\$1,098,690.00	\$1,098,690.00
Flow Control	1	LS	\$1,225,000.00	\$1,225,000.00	\$1,500,000.00	\$1,500,000.00	\$1,381,170.00	\$1,381,170.00
Siphon Flow Control and Dewatering	1	LS	\$850,000.00	\$850,000.00	\$1,745,000.00	\$1,745,000.00	\$44,220.00	\$44,220.00
Misc. Site Work	1	LS	\$450,000.00	\$450,000.00	\$2,250,000.00	\$2,250,000.00	\$1,323,320.00	\$1,323,320.00
Traffic Control	1	LS	\$90,000.00	\$90,000.00	\$850,000.00	\$850,000.00	\$199,760.00	\$199,760.00
Lonyo Access Shaft – John Kronk Street	1	LS	\$500,000.00	\$500,000.00	\$876,000.00	\$876,000.00	\$468,180.00	\$468,180.00
Lonyo Flow Control Shaft and Tunnel	1	LS	\$1,000,000.00	\$1,000,000.00	\$1,844,000.00	\$1,844,000.00	\$3,898,360.00	\$3,898,360.00

	GIWΔ
X	GLVVA Great Lakes Water Authority

Effective Date: Document #: Revision Date: 7/1/2025 FSA_PRO_TPL_0012 N/A

Revision#:

Document Title:

Cost Tabulation/Notice of Respondents

Document Owner/Department:

Procurement Team

Req No./Title: 0002690 - Lonyo Sewer Rehab

		L. D'Agostini & Sons, Inc.		Pamar Enterprises, Inc.		Inland Waters Pollution Control		
Description	Qty	UOM	Unit Price	Total Cost	Unit Price	Total Cost	Unit Price	Total Cost
Shutdown Days	250	Days	\$2,500.00	\$625,000.00	\$500.00	\$125,000.00	\$4,000.00	\$1,000,000.00
Deep Concrete Repair	1,250	SF	\$300.00	\$375,000.00	\$300.00	\$375,000.00	\$290.00	\$362,500.00
Open Joint Repairs	550	LF	\$380.00	\$209,000.00	\$375.00	\$206,250.00	\$350.00	\$192,500.00
Epoxy Crack Repair	500	LF	\$320.00	\$160,000.00	\$73.00	\$36,500.00	\$300.00	\$150,000.00
Deteriorated Brick Repairs	100	SF	\$120.00	\$12,000.00	\$250.00	\$25,000.00	\$140.00	\$14,000.00
Seal Infiltration with Chemical Grout	8,500	GAL	\$110.00	\$935,000.00	\$55.00	\$467,500.00	\$100.00	\$850,000.00
Remove Mineral Deposits and Roots	100	SF	\$320.00	\$32,000.00	\$100.00	10,000.00	\$300.00	\$30,000.00

	GIWΔ
XX	Great Lakes Water Authority

Effective Date: Document #: Revision Date: 7/1/2025 FSA_PRO_TPL_0012 N/A

Revision#:

Document Title:

Cost Tabulation/Notice of Respondents

Document Owner/Department:

Procurement Team

Req No./Title: 0002690 - Lonyo Sewer Rehab

		L. D'Agostini	& Sons, Inc.	Pamar Enterprises, Inc. Inland W		Inland Waters P	and Waters Pollution Control	
Qty	UOM	Unit Price	Total Cost	Unit Price	Total Cost	Unit Price	Total Cost	
11,250	Tons	\$510.00	\$5,737,500.00	\$380.00	\$4,275,000.00	\$500.00	\$5,625,000.00	
4,125	Tons	\$610.00	\$2,516,250.00	\$380.00	\$1,567,500.00	\$600.00	\$2,475,000.00	
48	EA	\$2,500.00	\$120,000.00	\$1,500.00	\$72,000.00	\$2,200.00	\$105,600.00	
1	EA	\$10,500.00	\$10,500.00	\$2,750.00	\$2,750.00	\$9,900.00	\$9,900.00	
13	EA	\$11,500.00	\$149,500.00	\$3,750.00	\$48,750.00	\$10,440.00	\$135,720.00	
32	EA	\$23,000.00	\$736,000.00	\$6,650.00	\$212,800.00	\$35,700.00	\$1,142,400.00	
24	EA	\$14,000.00	\$336,000.00	\$35,000.00	\$840,000.0	\$14,780.00	\$354,720.00	
	11,250 4,125 48 1 13	11,250 Tons 4,125 Tons 48 EA 1 EA 13 EA 32 EA	Qty UOM Unit Price 11,250 Tons \$510.00 4,125 Tons \$610.00 48 EA \$2,500.00 1 EA \$10,500.00 13 EA \$11,500.00 32 EA \$23,000.00	11,250 Tons \$510.00 \$5,737,500.00 4,125 Tons \$610.00 \$2,516,250.00 48 EA \$2,500.00 \$120,000.00 1 EA \$10,500.00 \$10,500.00 13 EA \$11,500.00 \$149,500.00 32 EA \$23,000.00 \$736,000.00	Qty UOM Unit Price Total Cost Unit Price 11,250 Tons \$510.00 \$5,737,500.00 \$380.00 4,125 Tons \$610.00 \$2,516,250.00 \$380.00 48 EA \$2,500.00 \$120,000.00 \$1,500.00 1 EA \$10,500.00 \$10,500.00 \$2,750.00 13 EA \$11,500.00 \$149,500.00 \$3,750.00 32 EA \$23,000.00 \$736,000.00 \$6,650.00	Qty UOM Unit Price Total Cost Unit Price Total Cost 11,250 Tons \$510.00 \$5,737,500.00 \$380.00 \$4,275,000.00 4,125 Tons \$610.00 \$2,516,250.00 \$380.00 \$1,567,500.00 48 EA \$2,500.00 \$120,000.00 \$1,500.00 \$72,000.00 1 EA \$10,500.00 \$10,500.00 \$2,750.00 \$2,750.00 13 EA \$11,500.00 \$149,500.00 \$3,750.00 \$48,750.00 32 EA \$23,000.00 \$736,000.00 \$6,650.00 \$212,800.00	Qty UOM Unit Price Total Cost Unit Price Total Cost Unit Price 11,250 Tons \$510.00 \$5,737,500.00 \$380.00 \$4,275,000.00 \$500.00 4,125 Tons \$610.00 \$2,516,250.00 \$380.00 \$1,567,500.00 \$600.00 48 EA \$2,500.00 \$120,000.00 \$1,500.00 \$72,000.00 \$2,200.00 1 EA \$10,500.00 \$10,500.00 \$2,750.00 \$9,900.00 13 EA \$11,500.00 \$149,500.00 \$3,750.00 \$48,750.00 \$10,440.00 32 EA \$23,000.00 \$736,000.00 \$6,650.00 \$212,800.00 \$35,700.00	

	CINAIA
W	GLWA
	Great Lakes Water Authority

Effective Date: Document #: Revision Date: 7/1/2025 FSA_PRO_TPL_0012 N/A

Revision#:

Document Title:

Cost Tabulation/Notice of Respondents

Document Owner/Department:

Procurement Team

Req No./Title: 0002690 - Lonyo Sewer Rehab

			L. D'Agostini	& Sons, Inc.	Pamar Enterprises, Inc.		Inland Waters Pollution Contr	
Description	Qty	UOM	Unit Price	Total Cost	Unit Price	Total Cost	Unit Price	Total Cost
Chamber Spray Lining	2	EA	\$25,000.00	\$50,000.00	\$45,000.00	\$90,000.00	\$118,000.00	\$236,000.00
Lonyo Access Shaft and Cleaning Site (Patton Park and Baby Creek)	2	EA	\$300,000.00	\$600,000.00	\$1,798,000.00	\$3,596,000.00	\$624,240.00	\$1,248,480.00
Raise Stop Log Slots and Procure Stop Logs	2	EA	\$125,000.00	\$250,000.00	\$250,000.00	\$500,000.00	\$78,030.00	\$156,060.00
Remove Debris without PFAS (Increased Efficiency)	3,750	Tons	\$460.00	\$1,725,000.00	\$335.00	\$1,256,250.00	\$450.00	\$1,687,500.00
Remove Debris without PFAS (Standard Efficiency)	750	Tons	\$560.00	\$420,000.00	\$335.00	\$251,250.00	\$550.00	\$412,500.00
Provisional Allowance	1	NTE	\$750,000.00	\$750,000.00	\$750,000.00	\$750,000.00	\$750,000.00	\$750,000.00
	Grand	d Total	\$20,813	,750.00	\$24,972	2,550.00	\$25,351	.,580.00

	CLVA/A
W	GLWA
	Great Lakes Water Authority

Effective Date: Document #: Revision Date: 7/1/2025 FSA_PRO_TPL_0012 N/A

Revision#:

Document Title:

Cost Tabulation/Notice of Respondents

Document Owner/Department:

Procurement Team

Req No./Title: 0002690 - Lonyo Sewer Rehab

		Z Contra	ctors, Inc.	Ric-Man Construction, Inc. Pullm		Pullman	man SST, Inc.	
Description	Qty	UOM	Unit Price	Total Cost	Unit Price	Total Cost	Unit Price	Total Cost
Mobilization and Bonds & Insurance	1	LS	\$1,000,000.00	\$1,000,000.00	\$385,000.00	\$385,000.00	\$1,534,715.00	\$1,534,715.00
Flow Control	1	LS	\$2,000,000.00	\$2,000,000.00	\$1,480,000.00	\$1,480,000.00	\$3,371,283.00	\$3,371,283.00
Siphon Flow Control and Dewatering	1	LS	\$532,000.00	\$532,000.00	\$654,000.00	\$654,000.00	\$1,716,890.00	\$1,716,890.00
Misc. Site Work	1	LS	\$1,200,000.00	\$1,200,000.00	\$7,160,000.00	\$7,160,000.00	\$1,154,939.00	\$1,154,939.00
Traffic Control	1	LS	\$250,000.00	\$250,000.00	\$81,000.00	\$81,000.00	\$3,356,513.00	\$3,356,513.00
Lonyo Access Shaft – John Kronk Street	1	LS	\$750,000.00	\$750,000.00	\$6,905,000.00	\$6,905,000.00	\$660,00.00	\$660,000.00
Lonyo Flow Control Shaft and Tunnel	1	LS	\$5,775,000.00	\$5,775,000.00	\$8,330,000.00	\$8,330,000.00	\$3,913,740.00	\$3,913,740.00

	CINAIA
O	GLWA
	Great Lakes Water Authority

Effective Date: Document #: Revision Date: 7/1/2025 FSA_PRO_TPL_0012 N/A

Revision#:

Document Title:

Cost Tabulation/Notice of Respondents

Document Owner/Department:

Procurement Team

Req No./Title: 0002690 - Lonyo Sewer Rehab

			Z Contract	tors, Inc.	Ric-Man Construction,		, Inc. Pullman SST, Inc.	
Description	Qty	UOM	Unit Price	Total Cost	Unit Price	Total Cost	Unit Price	Total Cost
Shutdown Days	250	Days	\$2,000.00	\$500,000.00	\$715.00	\$178,750.00	\$1792.00	\$448,000.00
Deep Concrete Repair	1,250	SF	\$300.00	\$375,000.00	\$300.00	\$375,000.00	\$797.00	\$996,250.00
Open Joint Repairs	550	LF	\$375.00	\$206,250.00	\$375.00	\$206,250.00	\$1,022.00	\$562,100.00
Epoxy Crack Repair	500	LF	\$73.00	\$36,500.00	\$73.00	\$36,500.00	\$354.00	\$177,000.00
Deteriorated Brick Repairs	100	SF	\$250.00	\$25,000.00	\$250.00	\$25,000.00	\$261.00	\$26,100.00
Seal Infiltration with Chemical Grout	8,500	GAL	\$55.00	\$467,500.00	\$55.00	\$467,500.00	\$122.00	\$1,037,000.00
Remove Mineral Deposits and Roots	100	SF	\$100.00	\$10,000.00	\$100.00	\$10,000.00	\$166.00	\$16,600.00

	CLVA/A
W	GLWA
	Great Lakes Water Authority

N/A

Revision Date:

Effective Date: Document #: 7/1/2025 FSA_PRO_TPL_0012

Revision#:

Document Title:

Cost Tabulation/Notice of Respondents

Document Owner/Department:

Procurement Team

Req No./Title: 0002690 - Lonyo Sewer Rehab

			Z Contractors, Inc. Ric-Man Cons		struction, Inc. Pull		man SST, Inc.	
Description	Qty	UOM	Unit Price	Total Cost	Unit Price	Total Cost	Unit Price	Total Cost
Remove Debris with PFAS (Increased Efficiency)	11,250	Tons	\$410.00	\$4,612,500.00	\$80.00	\$900,000.00	\$391.00	\$4,398,750.00
Remove Debris with PFAS (Standard Efficiency)	4,125	Tons	\$410.00	\$1,691,250.00	\$80.00	\$330,000.00	\$424.00	\$1,749,000.00
Repair Rough Taps ≤ 24"	48	EA	\$1,500.00	\$72,000.00	\$1,500.00	\$72,000.00	\$3,896.00	\$187,008.00
Repair Rough Taps >24" to 48"	1	EA	\$2,750.00	\$2,750.00	\$2,750.00	\$2,750.00	\$11,376.00	\$11,376.00
Repair Rough Taps ≥ 48"	13	EA	\$3,750.00	\$48,750.00	\$3,750.00	\$48,750.00	\$13,081.00	\$170,053.00
Manhole Frame and Cover Replacement	32	EA	\$25,000.00	\$800,000.00	\$30,000.00	\$960,000.00	\$50,600.00	\$1,619,200.00
Lonyo Special Manhole Modification	24	EA	\$9,000.00	\$216,000.00	\$15,000.00	\$360,000.00	\$24,900.00	\$597,600.00

Effective Date: Document #: Revision Date: 7/1/2025 FSA_PRO_TPL_0012 N/A

Revision#:

Document Title:

Cost Tabulation/Notice of Respondents

Document Owner/Department:

Procurement Team

Req No./Title: 0002690 - Lonyo Sewer Rehab

		Z C		ctors, Inc.	Ric-Man Construction, Inc.		Pullman SST, Inc.	
Description	Qty	UOM	Unit Price	Total Cost	Unit Price	Total Cost	Unit Price	Total Cost
Chamber Spray Lining	2	EA	\$34,000.00	\$68,000.00	\$34,000.00	\$68,000.00	\$46,035.00	\$92,070.00
Lonyo Access Shaft and Cleaning Site (Patton Park and Baby Creek)	2	EA	\$1,500,000.00	\$3,000,000.00	\$256,000.00	\$512,000.00	\$880,000.00	\$1,760,000.00
Raise Stop Log Slots and Procure Stop Logs	2	EA	\$60,000.00	\$120,000.00	\$119,000.00	\$238,000.00	\$203,280.00	\$406,560.00
Remove Debris without PFAS (Increased Efficiency)	3,750	Tons	\$380.00	\$1,425,000.00	\$80.00	\$300,000.00	\$336.00	\$1,260,000.00
Remove Debris without PFAS (Standard Efficiency)	750	Tons	\$380.00	\$285,000.00	\$80.00	\$60,000.00	\$369.00	\$276,750.00
Provisional Allowance	1	NTE	\$750,000.00	\$750,000.00	\$750,000.00	\$750,000.00	\$750,000.00	\$750,000.00
	Gran	d Total	\$26,218	3,500.00	\$30,895	,500.00	\$32,249),497.00

	CLIMA
W	GLWA
	Great Lakes Water Authority

Effective Date: 7/1/2025

Document #: FSA_PRO_TPL_0012

Revision Date: N/A

Revision#:

Document Title:

Cost Tabulation/Notice of Respondents

Document Owner/Department:

Procurement Team

Req No./Title: 0002690 - Lonyo Sewer Rehab

			Oscar Renda Contracting Inc.	
Description	Qty	UOM	Unit Price	Total Cost
Mobilization and Bonds & Insurance	1	LS	\$1,750,000.00	\$1,750,000.00
Flow Control	1	LS	\$4,750,000.00	\$4,750,000.00
Siphon Flow Control and Dewatering	1	LS	\$1,000,000.00	\$1,000,000.00
Misc. Site Work	1	LS	\$4,000,000.00	\$4,000,000.00
Traffic Control	1	LS	\$1,500,000.00	\$1,500,000.00
Lonyo Access Shaft – John Kronk Street	1	LS	\$3,000,000.00	\$3,000,000.00
Lonyo Flow Control Shaft and Tunnel	1	LS	\$5,000,000.00	\$5,000,000.00

	GLWA
XX	Great Lakes Water Authority

Effective Date: Document #: 7/1/2025 FSA_PRO_TPL_0012

Revision Date: N/A

Revision#:

Document Title:

Cost Tabulation/Notice of Respondents

Document Owner/Department:

Procurement Team

Req No./Title: 0002690 - Lonyo Sewer Rehab

		Oscar Renda Contracting Inc.	
Qty	UOM	Unit Price	Total Cost
250	Days	\$8,602.00	\$2,150,500.00
1,250	SF	\$400.00	\$500,000.00
550	LF	\$300.00	\$165,000.00
500	LF	\$300.00	\$150,000.00
100	SF	\$300.00	\$30,000.00
8,500	GAL	\$125.00	\$1,062,500.00
100	SF	\$100.00	\$10,000.00
	250 1,250 550 500 100 8,500	250 Days 1,250 SF 550 LF 500 LF 100 SF 8,500 GAL	250 Days \$8,602.00 1,250 SF \$400.00 550 LF \$300.00 100 SF \$300.00 8,500 GAL \$125.00

	GLWA
XX	Great Lakes Water Authority

Effective Date: Document #: 7/1/2025 FSA_PRO_TPL_0012

Revision Date: N/A

Revision#:

Document Title:

Cost Tabulation/Notice of Respondents

Document Owner/Department:

Procurement Team

Req No./Title: 0002690 - Lonyo Sewer Rehab

		Oscar Renda Contracting Inc.	
Qty	UOM	Unit Price	Total Cost
11,250	Tons	\$350.00	\$3,937,500.00
4,125	Tons	\$430.00	\$1,773,750.00
48	EA	\$600.00	\$28,800.00
1	EA	\$2,500.00	\$2,500.00
13	EA	\$3,000.00	\$39,000.00
32	EA	\$30,000.00	\$960,000.00
24	EA	\$35,000.00	\$840,000.00
	11,250 4,125 48 1 13	11,250 Tons 4,125 Tons 48 EA 1 EA 13 EA 32 EA	Qty UOM Unit Price 11,250 Tons \$350.00 4,125 Tons \$430.00 48 EA \$600.00 1 EA \$2,500.00 13 EA \$3,000.00 32 EA \$30,000.00

	0114/4
W	GLWA
	Great Lakes Water Authority

Effective Date: Document #: 7/1/2025 FSA_PRO_TPL_0012

Revision Date: N/A

Revision#:

Document Title:

Cost Tabulation/Notice of Respondents

Document Owner/Department:

Procurement Team

Req No./Title: 0002690 - Lonyo Sewer Rehab

		Oscar Renda Contracting Inc.	
Qty	UOM	Unit Price	Total Cost
2	EA	\$25,000.00	\$50,000.00
2	EA	\$2,000,000.00	\$4,000,000.00
2	EA	\$192,504.00	\$385,008.00
3,750	Tons	\$350.00	\$1,312,500.00
750	Tons	\$430.00	\$322,500.00
1	NTE	\$750,000.00	\$750,000.00
	Grand Total	\$39,469,558.00	
	2 2 2 2 3,750	2 EA 2 EA 3,750 Tons 750 Tons	Qty UOM Unit Price 2 EA \$25,000.00 2 EA \$2,000,000.00 2 EA \$192,504.00 3,750 Tons \$350.00 750 Tons \$430.00 1 NTE \$750,000.00



Effective Date: Document #: 7/1/2025 FSA_PRO_TPL_0012

Revision Date: N/A

Revision#:

Document Title:

Cost Tabulation/Notice of Respondents

Document Owner/Department:

Procurement Team

Req No./Title: 0002690 - Lonyo Sewer Rehab

Date: 5/19/2025

Approved:

Gladys Cannon

5/17/2025